
Project 8: Rewriting Equations 

We can use the following properties to rewrite equations (to replace them with equivalent equations that have a particular 

form like ݕ െ ݔ݉ ൅ ܾ, or to solve them—which is really just another process of “rewriting” by replacing one equation with a 

sequence of equivalent ones, or to combine information from multiple equations into a single equation).       

 

Properties that apply to equations specifically: 

ܽ ൌ ܾ	 ↔ 		ܾ ൌ ܽ  

ܽ ൌ ܾ	 ↔ 		ܽ ൅ ܿ ൌ ܾ ൅ ܿ	          ܽ ൏ ܾ	 ↔ 		ܽ ൅ ܿ ൏ ܾ ൅ ܿ 

ܽ ൌ ܾ	 ↔ 		ܽ ⋅ ܿ ൌ ܾ ⋅ ܿ					ሺݎ݁ݒ݄݁݊݁ݓ	ܿ ് 0ሻ              ܽ ൏ ܾ	 ↔ 		 ൜
ܽ ⋅ ܿ ൏ ܾ ⋅ ܿ					݂݅	ܿ ൐ 0
ܽ ⋅ ܿ ൐ ܾ ⋅ ܿ					݂݅	ܿ ൏ 0		 

ܽ ൌ ܾ	 ↔ 	
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					݂݅	ܿ ൐ 0
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௖
					݂݅	ܿ ൏ 0

		    

ܽ ൌ ܾ		ܽ݊݀		ܿ ൌ ݀		 ↔ 		ܽ ൅ ܿ ൌ ܾ ൅ ݀            
ܽ ൌ ܾ		ܽ݊݀		ܿ ൌ ݀		 ↔ 		݊ܽ ൅ ݉ܿ ൌ ܾ݊ ൅ ݉݀

݉	݀݊ܽ	݊	ݏݎܾ݁݉ݑ݊	ݕ݊ܽ	ݎ݋݂  

ܾܽ ൌ 0		 ↔ 		ܽ ൌ ܾ	ݎ݋		0 ൌ 0  

ଶݔܽ ൅ ݔܾ ൅ ܿ ൌ 0		 ↔ ଶݔܽ		 ൅ ܾଵݔ ൅ ܾଶݔ ൅ ܿ ൌ 			݁ݎ݄݁ݓ							0
∗ ܾଵ, ܾଶ	ܽ݁ݎ	݈݁݋݄ݓ	ݏݎܾ݁݉ݑ݊	
∗ ܾଵ ⋅ ܾଶ ൌ ܽܿ																													
∗ ܾଵ ൅ ܾଶ ൌ 	ܾ																												

	  

Properties for expressions, that can also be used on expressions inside equations: 

ܽሺܾ ൅ ܿሻ ൌ ܾܽ ൅ ܽܿ                                    ሺܽ ൅ ܾሻܿ ൌ ܽܿ ൅ ܾܿ           

ܽሺݔଵ ൅ ⋯൅ ௡ሻݔ ൌ ଵݔܽ ൅⋯൅ ଵݔ௡          ሺݔܽ ൅ ⋯൅ ௡ሻܿݔ ൌ ଵܿݔ ൅ ⋯൅  ௡ܿݔ

௡ݔ ൌ ݔ ⋅ … ⋅ ᇣᇧᇤᇧᇥݔ
௡ି௠௔௡௬	௧௜௠௘௦
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ଶݔ√ ൌ ݔ	ݎ݁ݒ݄݁݊݁ݓሺ					ݔ ൒ 0ሻ  

√ܾܽ ൌ √ܽ√ܾ  

ට
௔

௕
ൌ √௔

√௕
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What does it mean to solve an equation for a specific variable? 
Often we think of solving an equation as a process that leads to a specific answer, and sometimes that happens when we solve 

an equation.  But that is not really what it means.  Solving an equation just means that we want to replace an equation with 

a sequence of equivalent equations, until we have an equation in which the given variable is by itself on only one side of 

the equation.   

So, for example, this equation is NOT solved for ݔ2  :ݔ ൅ 6 ൌ  s on both sides of the equation, and also’ݔ because we have  ݔ
because the ݔ on the left side of the equation is not by itself.   

On the other hand, this equation IS solved for ݌  :݌ ൌ
௡௥௧

௩
  because the ݌ is by itself on one side of the equation.  The fact that 

the other side of the equation still contains a bunch of other variables instead of just a single number is irrelevant.   

Now you try!  Which of the following equations have been solved for ࢞, and which have not?  Circle each one that has been 

solved for ࢞, and cross out any that have not yet been solved for ࢞ and explain WHY they have not been solved for ࢞.   
ݔ .1 ൌ 2 
2. െ3 ൌ  ݔ
ݔ .3 ൌ ݕ2 ൅ 7 
ݔ .4 ൌ 3 ൅ ଶݔ െ 4 

ݔ .5 ൌ
௣௤௥

௦
 

ݔ .6 ൏ 9 
7. 8 ൒  ݔ

ݔ .8 ൌ
଼

ହ
 

ݔ .9 ൌ √5 

How do we solve an equation for a specific variable? 
Just like with simplifying or rewriting expression, the process of solving an equation for a specific variable is really just a 

process of replacing an equation with a sequence of different equations, all of which are equivalent to one another.   

How can we tell if two equations are equivalent?  Two equations (or inequalities, or systems of equations) are equivalent if 

they have the same solution set.   

The solution set is the set of all different combinations of numbers that could be substituted in for the variables that would 

make the equation true.   

So, for example: 

 The two equations ݔ െ 5 ൌ 2 and ݔଶ ൅ 49 ൌ ݔ are equivalent because they both have the same solution set ݔ14 ൌ 7.  
As it turns out, 7 is the only value that we can substitute in for ݔ that will make the first or the second equation true.  

Even though these two equations don’t look at all similar, it turns out they are actually equivalent because they have 

the same solution set.   

 The two equations ݔ ൅ ݕ ൌ ݔand ሺ ݖ ൅ ሻݕ ൅ 5 ൌ ݖ ൅ 5 are equivalent because they both have the same solution set:  

any combination of values that we substitute in for ݔ, ,ݕ  ,in the first equation will also work in the second equation ݖ
since adding 5 to each of two equal things, still results in two equal things (although the two new equal things will not 

be equal to the two old equal things—each of the new things will be five more than each of the old things).   

 To show that two equations are equivalent, we can NOT use the equals sign.  Since equations already contain an 

equals sign, adding a third equals sign between two equations would be confusing (it would look like we are 

comparing expressions, instead of the whole equation).  Instead, we use the double‐arrow, like this: 

ݔ െ 5 ൌ 2		 ↔ 		 ଶݔ ൅ 49 ൌ   ݔ14
ݔ ൅ ݕ ൌ 		ݖ ↔ 		 ሺݔ ൅ ሻݕ ൅ 5 ൌ ݖ ൅ 5  

   



So, to rewrite an equation, we simply need to replace it with an equivalent equation.  The most systematic way to do this is 

to use properties (or identities) to substitute the equation for an equivalent equation (which we can also do by replacing a 

sub‐expression with an equivalent sub‐expression, just like with expressions).   

This is just like what we did with expressions, except with equations we do have to think carefully about where we put the 

equals sign.   

Example:  Put the equation െ3ሺݔ െ 2ሻ ൌ ݕ ൅ 1 into the form ݕ ൌ ݔ݉ ൅ ܾ (where ݉, ܾ are any numbers), and identify the 
values of ݉ and ܾ. 
work:  explanation:  

െ3ሺݔ െ 2ሻ ൌ ݕ ൅ 1		  
↔		െ3ሺݔ ൅ െ2ሻ ൌ ݕ ൅ 1  

First, just as with simplifying expressions, we rewrite all subtraction as adding a 
negative (using the identity ܽ െ ܾ ൌ ܽ ൅ െܾ and ܽ ൌ ,ݔ ܾ ൌ 2).   

 
 
 
 
 
ሾሺെ3ሻሺݔ ൅ െ2ሻሿ ൌ ݕ ൅ 1		  
↔		 ሾሺെ3ሻሺݔሻ ൅ ሺെ3ሻሺെ2ሻሿ ൌ ݕ ൅ 1  
 

Then, just like with expressions, we will try to replace the equation with an 
equivalent one that does not have parentheses, in this case using the distributive 
property to rewrite the sub‐expression that is to the left of the equals sign:  we 
notice that െ3ሺݔ ൅ െ2ሻ has the form ܽሺܾ ൅ ܿሻ.   
Using ܽ ൌ െ3, ܾ ൌ ,ݔ ܿ ൌ െ2  for ܽሺܾ ൅ ܿሻ ൌ ܾܽ ൅ ܽܿ yields:     
 ሺെ3ሻሺݔ ൅ െ2ሻ ൌ ሺെ3ሻሺݔሻ ൅ ሺെ3ሻሺെ2ሻ 
Substituting this back into the original equation (we use square brackets to do this) 
yields the result to the left.   

 
↔	െ3ݔ ൅ ሺെ3ሻሺെ2ሻ ൌ ݕ ൅ 1  

Since the left side of the equation always has an implied parentheses around it 
anyway, it doesn’t change the meaning of the equation if we write it without the 
square brackets.  Similarly, ሺെ3ሻሺݔሻ and െ3ݔ are just two different ways of writing 
െ3 times ݔ, so we don’t need the parentheses here either.  

െ3ݔ ൅ ሾሺെ3ሻሺെ2ሻሿ ൌ ݕ ൅ 1	  
↔		െ3ݔ ൅ ሾ6ሿ ൌ ݕ ൅ 1  
↔		െ3ݔ ൅ 6 ൌ ݕ ൅ 1  

Multiplying െ3 ⋅ െ2 allows us to replace it with 6—we do this substitution using 
square brackets.  We note that we don’t need the square brackets around the 6 
since it is just a single number (and so the brackets are not grouping anything).   

 
 
ሺെ3ݔ ൅ 6ሻ ൌ ሺݕ ൅ 1	ሻ  
↔ ሺ	ݕ ൅ 1ሻ ൌ ሺെ3ݔ ൅ 6ሻ  

Now, we need an equivalent equation of the form ݕ ൌ ݔ݉ ൅ ܾ (where ݉, ܾ are any 
numbers).  So we start by creating an equivalent equation that has the ݕ on the left 
side and the ݔ on the right side by using the property ܽ ൌ ܾ	 ↔ 		ܾ ൌ ܽ:   Using ܽ ൌ
െ3ݔ ൅ 6, ܾ ൌ ݕ ൅ 1  for ܽ ൌ ܾ	 ↔ 		ܾ ൌ ܽ yields the result to the left.    

 
 
 
 
 
 
 
 
ሺݕ ൅ 1ሻ ൌ ሺെ3ݔ ൅ 6ሻ  
↔ ሺݕ ൅ 1ሻ ൅ െ1 ൌ ሺെ3ݔ ൅ 6ሻ ൅ െ1  

Now we almost have what we need, but we need an equivalent equation that 
doesn’t have the ൅1 that is on the left side (because in the form ݕ ൌ ݔ݉ ൅ ܾ, the ݕ 
is by itself on the left side).  We look at the possible properties that we could use, 
and we notice that 1 ൅ െ1 ൌ 0 (so if we had an equivalent equation with ݕ ൅ ሺ1 ൅
െ1ሻ on the left side, this would simplify to just ݕ ൅ 0 on the left side, which would 
simplify to just ݕ on the left side, which is what we want).  We notice that we have 
the following property which tells us that adding anything we want to each side of an 
equation produces an equivalent equation: ܽ ൌ ܾ	 ↔ 		ܽ ൅ ܿ ൌ ܾ ൅ ܿ 
So, using ܽ ൌ ݕ ൅ 1, ܾ ൌ െ3ݔ ൅ 6  and choosing ܿ ൌ െ1 for ܽ ൌ ܾ	 ↔ 		ܽ ൅ ܿ ൌ
ܾ ൅ ܿ yields the result to the left. 

 
 
ሺݕ ൅ 1ሻ ൅ െ1 ൌ ሺെ3ݔ ൅ 6ሻ ൅ െ1  
↔ ݕ ൅ 1 ൅ െ1 ൌ െ3ݔ ൅ 6 ൅ െ1  

If we think of each term as a single unit, we can see that all terms on the left are 
being added, and all terms on the right are being added, so we can replace the 
expressions on both the left and the right side of the equation with equivalent 
expressions that do not have the parentheses. 

ݕ ൅ ሾ1 ൅ െ1ሿ ൌ െ3ݔ ൅ ሾ6 ൅ െ1ሿ	  
↔ ݕ		 ൅ ሾ0ሿ ൌ െ3ݔ ൅ ሾ5ሿ  

Since all the terms on the left and all the terms on the right are being added, we can 
combine the terms on a given side in any order (careful—we can not combine terms 
from one side with terms on the other side, because there is an equals sign between 
them!).  So we can add 1 ൅ െ1 first on the left and 6 ൅ െ1 first on the right.   

ሾݕ ൅ 0ሿ ൌ െ3ݔ ൅ 5		  
↔	 ሾ	ݕሿ ൌ െ3ݔ ൅ 5  
↔ ݕ	 ൌ െ3ݔ ൅ 5  
This has the form ݕ ൌ ݔ݉ ൅ ܾ, with 
݉ ൌ െ3, ܾ ൌ 5. 

We almost have what we need.  We just need to replace the equation with an 
equivalent one that does not have the 0 on the left side.  But we have an identity 
that says that ݔ ൅ 0 ൌ ݕ So if we let  .ݔ ൌ  we can rewrite this equation one last ,ݔ
time by replacing the expression ݕ ൅ 0 on the left side of the equation with the 
expression ݕ instead.   



Notice two important things from this example: 

1) Every time we replaced the equation with an equivalent expression using an identity. 

2) When using the identities we were careful to use parentheses every time we substituted anything in for a variable 

and every time we substituted one sub‐expression in for another (we could then only rewrite the equation without 

the parentheses afterwards if we could find an identity that showed us how to write an equivalent equation without 

the parentheses).   

Now you try!  For each of the following equations, put them into the requested form:  

ݔ2 .10 െ ݕ3 ൌ 6  Put into ݕ ൌ ݔ݉ ൅ ܾ form (where ݉, ܾ are any numbers) and give the values of ݉, ܾ: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ .11 െ 2 ൌ െ1ሺݔ െ 3ሻ  Put into ݕ ൌ ݔ݉ ൅ ܾ form (where ݉, ܾ are any numbers) and give the values of ݉, ܾ: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ .12 ൌ 5  Put into ݕ ൌ ݔ݉ ൅ ܾ form (where ݉, ܾ are any numbers) and give the values of ݉, ܾ: 
 
 
 
 
 
 



ݔ2 .13 െ ଶݔ ൌ 3 െ ݔ ൅  ଶݔ2 Put into ܽݔଶ ൅ ݔܾ ൅ ܿ ൌ 0 form (where ܽ, ܾ, ܿ are any numbers) and give the values of 
ܽ, ܾ, ܿ: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ଶݔ .14 ൌ 5 െ  ݔ Put into ܽݔଶ ൅ ݔܾ ൅ ܿ ൌ 0 form (where ܽ, ܾ, ܿ are any numbers) and give the values of 
ܽ, ܾ, ܿ: 
 
 
 
 
 
 
 
 
 
 
 
 
 

ଶݔ .15 ൌ 5  Put into ܽݔଶ ൅ ݔܾ ൅ ܿ ൌ 0 form (where ܽ, ܾ, ܿ are any numbers) and give the values of 
ܽ, ܾ, ܿ: 
 
 
 
 
 
 
 
 

 

   



Use the properties on the first page of the project to solve each of the following equations, using these steps:  

1) If possible, first simplify the expressions on each side of the equation or inequality,  

2) Then rewrite the equation as needed to get an equivalent equation with the indicated variable by itself on one side.   

3) Then check your work by substituting the solution into the original equation.   

Original equation  Solve for the variable indicated  Check your work 

Example:  	 
 
Solve for ݔ: 
 

ݔ2
2
൅
4
3
ൌ
5
6
 

Minigoal 1: Find an equivalent equation with no fractions 
The fractions are making this equation more complicated than we 
would like, so our first goal is to replace the equation with an 
equivalent one that doesn’t have them.  Fractions are just division, 
so one way to generate an equivalent equation is to multiply both 
sides by a multiple of all the denominators—6 is a multiple of 2, and 
3, and 6.  So if we multiply both sides of the equation by 6 using the 
identity ܽ ൌ ܾ		 ↔ 		ܽ ⋅ ܿ ൌ ܾ ⋅ ܿ, this should allow us to rewrite the 
equation without the fractions (notice that the parentheses are 
critical here—if we leave them out, we change the meaning!): 

Here ܽ ൌ
ଶ௫

ଶ
൅

ସ

ଷ
,			ܾ ൌ

ହ

଺
,			ܿ ൌ 6: 

ቀଶ௫
ଶ
൅

ସ

ଷ
ቁ ൌ ቀହ

଺
ቁ 		↔ 6 ⋅ ቀ

ଶ௫

ଶ
൅

ସ

ଷ
	ቁ ൌ 6 ⋅ ቀ

ହ

଺
ቁ	  

 

Now we do a series of substitutions, using other properties—here 

the square brackets show in each step what is being substituted in 

for what: 

ቂ6 ⋅ ቀ
ଶ௫

ଶ
൅

ସ

ଷ
	ቁቃ ൌ 6 ⋅ ቀ

ହ

଺
ቁ ↔ ቂ6 ⋅ ቀ

ଶ௫

ଶ
ቁ ൅ 6 ⋅ ቀ

ସ

ଷ
ቁቃ ൌ 6 ⋅ ቀ

ହ

଺
ቁ  

ቂ6 ⋅ ቀ
ଶ௫

ଶ
ቁ ൅ 6 ⋅ ቀ

ସ

ଷ
ቁቃ ൌ 6 ⋅ ቀ

ହ

଺
ቁ ↔ 6 ⋅ ቀ

ଶ௫

ଶ
ቁ ൅ 6 ⋅ ቀ

ସ

ଷ
ቁ ൌ 6 ⋅ ቀ

ହ

଺
ቁ  

ሾ6ሿ ⋅ ቀ
ଶ௫

ଶ
ቁ ൅ ሾ6ሿ ⋅ ቀ

ସ

ଷ
ቁ ൌ ሾ6ሿ ⋅ ቀ

ହ

଺
ቁ ↔ ቂ଺

ଵ
ቃ ⋅ ቀ

ଶ௫

ଶ
ቁ ൅ ቂ଺

ଵ
ቃ ⋅ ቀ

ସ

ଷ
ቁ ൌ ቂ଺

ଵ
ቃ ⋅ ቀ

ହ

଺
ቁ  

ቂ଺
ଵ
ቃ ⋅ ቀ

ଶ௫

ଶ
ቁ ൅ ቂ଺

ଵ
ቃ ⋅ ቀ

ସ

ଷ
ቁ ൌ ቂ଺

ଵ
ቃ ⋅ ቀ

ହ

଺
ቁ ↔

଺

ଵ
⋅
ଶ௫

ଶ
൅

଺

ଵ
⋅
ସ

ଷ
ൌ

଺

ଵ
⋅
ହ

଺
  

ቂ଺
ଵ
⋅
ଶ௫

ଶ
ቃ ൅ ቂ଺

ଵ
⋅
ସ

ଷ
ቃ ൌ ቂ଺

ଵ
⋅
ହ

଺
ቃ ↔ ቂ଺⋅ଶ௫

ଵ⋅ଶ
ቃ ൅ ቂ଺⋅ସ

ଵ⋅ଷ
ቃ ൌ ቂ଺⋅ହ

ଵ⋅଺
ቃ  

ቂ଺⋅ଶ௫
ଵ⋅ଶ

ቃ ൅ ቂ଺⋅ସ
ଵ⋅ଷ
ቃ ൌ ቂ଺⋅ହ

ଵ⋅଺
ቃ ↔

ଵଶ௫

ଶ
൅

ଶସ

ଷ
ൌ

ଷ଴

଺
  

ቂଵଶ௫
ଶ
ቃ ൅

ଶସ

ଷ
ൌ

ଷ଴

଺
↔ ቂଵଶ

ଶ
ቃݔ ൅

ଶସ

ଷ
ൌ

ଷ଴

଺
  

ቂଵଶ
ଶ
ቃݔ ൅

ଶସ

ଷ
ൌ

ଷ଴

଺
↔

ଵଶ

ଶ
ݔ ൅

ଶସ

ଷ
ൌ

ଷ଴

଺
  

ቂଵଶ
ଶ
ቃ ݔ ൅ ቂଶସ

ଷ
ቃ ൌ ቂଷ଴

଺
ቃ ↔ ሾ6ሿݔ ൅ ሾ8ሿ ൌ ሾ5ሿ  

ሾ6ሿݔ ൅ ሾ8ሿ ൌ ሾ5ሿ ↔ ݔ6 ൅ 8 ൌ 5  
So we have replaced 

ଶ௫

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
 with the equivalent equation 

ݔ6 ൅ 8 ൌ 5.  
  
Minigoal 2: Find equivalent equation without the 8 on the left 
Now that we no longer have fractions, we proceed to try to get ݔ by 
itself on one side by thinking about what parts are “in the way”.  
We need an equivalent equation without the 8 on the left side, and  
it is currently being added in the existing equation—this tells us 
that we can generate an equivalent equation by adding a െ8 to 
each side of the equation using the identity  
ܽ ൌ ܾ		 ↔ 		ܽ ൅ ܿ ൌ ܾ ൅ ܿ, letting ܽ ൌ ݔ6 ൅ 8, ܾ ൌ െ3, ܿ ൌ െ8: 
ݔ6 ൅ 8 ൌ 5 ↔ ሺ6ݔ ൅ 8ሻ ൅ െ8 ൌ ሺ5ሻ ൅ െ8   
ሺ6ݔ ൅ 8ሻ ൅ െ8 ൌ ሺ5ሻ ൅ െ8	 ↔ ݔ6 ൅ ሺ8 ൅ െ8ሻ ൌ െ3  
ݔ6 ൅ ሺ8 ൅ െ8ሻ ൌ െ3 ↔ ݔ6 ൅ 0 ൌ െ3  
ݔ6 ൅ 0 ൌ െ3 ↔ ݔ6 ൌ െ3  

ݔ ൌ െ
ଵ

ଶ
  and 

ଶ௫

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
  

↔		
ଶቀି

భ
మ
ቁ

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
  

↔		
మ
భ
ቀି

భ
మ
ቁ

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
  

↔		
ି
మ⋅భ
భ⋅మ
		

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
  

↔		
ି
మ
మ
		

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
  

↔		
ିଵ	

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
  

↔		
ିଵ	

ଶ
⋅
ଷ

ଷ
൅

ସ

ଷ
⋅
ଶ

ଶ
ൌ

ହ

଺
  

↔		
ିଵ⋅ଷ	

ଶ⋅ଷ
൅

ସ⋅ଶ

ଷ⋅ଶ
ൌ

ହ

଺
  

↔		
ିଷ	

଺
൅

଼

଺
ൌ

ହ

଺
  

↔		
ିଷା଼	

଺
ൌ

ହ

଺
   TRUE!  

 



So we have replaced 
ଶ௫

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
 with the equivalent equation 

ݔ6 ൌ െ3.  
 
Minigoal 3: Find equivalent equation without the 6 on the left 
Now we need to replace this equation with one that does not have 
the 6 on the left side, and it is currently being multiplied in the 
equation—this tells us that we can generate an equivalent equation 
by dividing each side of the equation by 6 using the identity  

ܽ ൌ ܾ	 ↔ 	
௔

௖
ൌ

௕

௖
	ሺݎ݁ݒ݄݁݊݁ݓ	ܿ ് 0ሻ, letting ܽ ൌ ,ݔ6 ܾ ൌ െ3, ܿ ൌ 6:   

ሺ6ݔሻ ൌ ሺെ3ሻ ↔
ሺ଺௫ሻ

଺
ൌ

ሺିଷሻ

଺
  

ሺ଺௫ሻ

଺
ൌ

ሺିଷሻ

଺
↔

଺௫

଺
ൌ

ିଷ

଺
  

ቂ଺௫
଺
ቃ ൌ

ିଷ

଺
↔ ቂ଺

଺
ቃݔ ൌ

ିଷ

଺
  

ቂ଺
଺
ቃݔ ൌ

ିଷ

଺
↔ ቂ଺

଺
ቃ ݔ ൌ

ିଷ

଺
  

ቂ଺
଺
ቃ ݔ ൌ

ିଷ

଺
↔ ሾ1ሿݔ ൌ

ିଷ

଺
  

ሾ1ሿݔ ൌ
ିଷ

଺
↔ ݔ ൌ

ିଵ

ଶ
  

So we have replaced 
ଶ௫

ଶ
൅

ସ

ଷ
ൌ

ହ

଺
 with the equivalent equation 

ݔ ൌ
ିଵ

ଶ
   (or ݔ ൌ െ

ଵ

ଶ
).  

The only value of ࢞ that makes this equation true is െ
૚

૛
, so that is 

also the only value of ࢞ that makes the original equation true.  
That is why this is the solution to the original equation.   

16. 2ሺ7 െ ܽሻ ൌ 6ܽ െ 2  Solve for ܽ: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 

17. ܽ ൌ 6ܾ ൅ 2ܿ  Solve for ܾ: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

ݔ3 .18 െ ݕ4 ൌ 8  Solve for ݕ: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 

19. 
௡ାଷ

ଶ
ൌ

௡ାଷ

ଷ
  Solve for ݊: 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

݌6 .20 െ 1 ൌ 5 െ 2ሺ3݌ ൅ 3ሻ  Solve for ݌: 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 

 


